In which one of the following regions was
Dhanyakataka, which flourished as
a prominent Buddhist centre under
the Mahasanghikas, located? '
fa) Andhra
(b) Gandhara
(c) Kalinga

(d) Magadha

2. With reference to ancient India, consider

the following statements :

1. The concept of Stupa is Buddhist
in origin.

2. Stupa was generally a repository
of relics.

3. Stupa was a votive and
commemorative structure in
Buddhist tradition.

How many of the statements given
above are correct?

(a) Only one
(b) Only two
(c) All three

(d) None

3. With reference to ancient South India,

Korkai, Poompuhar and Muchiri were
well known as

(a) capital cities
(b) ports
(c) centres of iron-and-steel making

(d) shrines of Jain Tirthankaras

DTG-F-GST/62B

4. Which one of the following explains
the practice of Vattakirutal’! as
mentioned in Sangam poems?

fa) Kings employing women
bodyguards
(b) Learned persons assembling in

royal courts to discuss religious
and philosophical matters

(¢) Young girls keeping watch over
agricultural fields and driving away
birds and animals

({d) A king defeated in a battle
committing ritual suicide by
starving himself to death

5. Consider the following dynasties :

1. Hoysala

2. Gahadavala
3. Kakatiya

4, Yadava

How many of the above dynasties
established their kingdoms in early
eighth century AD?

(@) Only one
(b) Only two
(c) Only three
(d) None

6. With reference to ancient Indian History,
consider the following pairs :

Literary work Author
1. Devichandragupta : Bilhana
2. Hammira-Mahakavya : Nayachandra Suri
3. Milinda-panha : Nagarjuna
4. Nitivakyamrita : Somadeva Suri

How many of the above pairs are
correctly matched?

(a) Only one
(b) Only two
(c) Only three
(d) All four

[P.T.0.
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“Souls are not only the property of
animal and plant life, but also of rocks
running water and many other nal.nrni
objects not looked on as living by other
religious sects.” o

The above statement reflects one of
the core beliefs of which one of the
following religious sects of ancient
India?

(a) Buddhism
(b) Jainism
fc) Shaivism

(d) Vaishnavism

8. Who among the following rulers of

Vijayanagara Empire constructed a
large dam across Tungabhadra River
and a canal-cum-aqueduct several
kilometres long from the river to the
capital city?
(a) Devaraya I d
(b) Mallikarjuna

(c) Vira Vijaya

(d) Virupaksha

9. Who among the following rulers of

medieval Gujarat surrendered Diu to
Portuguese?

(a) Ahmad Shah

(h) Mahmud Begarha
(c) Bahadur Shah
(d) Muhammad Shah

10. By which one of the following Acts

was the Governor General of Bengal
designated as' the Governor General
of India?

(a) The Regulating Act
(b) The Pitt’s India Act
(c) The Charter Act of 1793
(d) The Charter Act of 1833

XDTG-F-GST/62B

11.

12,

In essénce, what does Due Process of
Law' mean? :

(a) The principle of natural justice
(b) The procedure established by law
(c) Fair application of law

(d) Equality before law

Consider the following statements :
Statement-] :
In India, prisons are managed by
State Governments with their own
rules and regulations for the
day-to-day administration of prisons.
Statement-II :
In India, prisons are governed by the
Prisons Act, 1894 which expressly

kept the subject of prisons in the
control of Provincial Governments.

Which one of the following is correct in
respect of the above statements?

(a) Both Statement-l and Statement-II
are correct and Statement-II is the
correct explanation for Statement-1

(b) Both Statement-I and Statement-II
are correct and Statement-Il is

not the correct explanation for
Statement-1

(c) Statement-I is correct but
Statement-II is incorrect

(d) Statement-I is incorrect. but
Statement-II is correct

13. Which one of the following statements

best reflects the Chief purpose of the
‘Constitution’ of a country?

(a) It determines the objective for the
making of necessary laws.

(b) 1t enables the creation of political
offices and a government.

(c) It defines and limits the powers of
government.

It secures social justice, social
@ cquality and social security

[P.T.O.
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1.

2.

3.
4.

How many of the
constitutional bodies?
fa)
(b) Only two
{c) Only three
(d) All four

. Consider the following statements :

In India, which one of

' CQr_;stimtional Amcndmr.-n't:cw::"\::ri:}ﬁ
:):llev;gdié?a]be enacted to overcome
Fundamental Rights?
(a)
(b) 42nd Amendment
fc) 44th Amendment
(d) 86th Amendment

Consider the following organizations/
bodies in India :

3

interpretations of the

1st Amendment

The National Commission for
Backward Classes

The National
Commission
The National Law Commission
The National Consumer Disputes
Redressal Commission

Human  Rights

above are

Only one

If the election of the President
of India is declared void by
the Supreme Court of India, all
acts done by him/her in the
performance of duties of his/her
office of President before the date
of decision become invalid.

Election for the post of the
President of India can be postponed
on the ground that some Legislative
Assemblies have been dissolved
and elections are yet to take place.
When a Bill is presented to the
President of India, the Constitution
prescribes time limits within yvtuch
he/she has to declare

assent.

How many of the above statements are

correct?
(a) Only one

(b)

Only two

(c) All three

(d)

None

XDTG-F-GST/62B

17.

2. When the Lok Sabha

3. In the case of

Wlth rr\h“[f" \C .
t ) FINnANnce 3 1 Aanc M[ ne
nce 1 I na I 1 ‘ ‘ mey

Bill in the Indian Parliament ¢
the following statements |

1 When the Lok Sabha transmits

Finance Bill to the Rajya Sabh
it can amend or reject the hm a,

e transmit:
Money Bill to the Rajya Sahl:a‘

i_t cannot amend or reject the Bill
it can only make recommendations.

disagreement
between the Lok Sabha and the

Rajya Sabha, there is no joint
sitting for Money Bill, but a joint
sitting becomes necessary for
Finance Bill.

How many of the above statements are
correct?

(a) Only one
(b) Only two
(c) All three
(d) None

18. Consider the following statements :

Once the Central Government notifies
an area as a ‘Community Reserve’

1. the Chief Wildlife Warden of the
State becomes the governing
authority of such forest

2. hunting is not allowed in such area

3. people of such area are allowed to
collect non-timber forest produce

4. people of such area are allowed
traditional agricultural practices

How many of the above statements are
correct?

(@) Only one

(b) Only two

(c) Only three

(d@ Al four

(P.T.0.
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) 1 With l‘eferenCE

f e to

in  India, . . S‘"-hedul

statementsg . Considey the "’Lﬂ;\reag'

1. Within “HOWing
an &reaaass'ls‘ y the ‘Oﬂﬁrﬁt'
place throy Checluled M‘n':‘n of
President. an Ordey .Ofm:}:n

forming the Bdminialralivc -
District ang Cheduled Areq ; UMt

nist
concerned Stateg ar:rai- of  the
submit_annya) " yor, |
Union Homc i 8 the
administration of §
c
in the States, heduleq Areas
How many of the above
. s
correct? tatements are
(a) Only one
(b) Only two
{c) All three

(d) None

20. Consider the following Statements :
Statement-] : .

The Supreme Court

' _ of India has
held in some Judgements that the

reservation  policies made under
Article 16(4) of the Constitution of
India would be limited by Article 335
for maintenance of efficiency of
administration.

Statement-II :
Article 335 of the Constitution of
India defines the term ‘efficiency of
administration’.

Which one of the following is correct in

respect of the above statements?

(a) Both Statement-I and Statement-II
are correct and Statement-II is the
correct explanation for Statement-I

(b) Both Statement-I and Statement—.ll
are correct and Statement-ll is
not the correct explanation for
Statement-I /

(c) Statement-I is correct but
Statement-II is incorrect

(d) Statement-l1 is incorrect but
Statement-II is correct

XDTG-F-GST/62B

21,

C
onsider the following statements
Statemert-|

tndi
ndia,  despite having  uranium

fh“lm.‘tll‘!, flf‘pﬂm]g on coal for most of
its electricity production

Statement-I1
Uranium, enriched to the extent of
at least 60%, is required for the
production of electricity

Which one of the following is correct in

respect of the above statements?

fa) Both Statement-1 and Statement-I1
are correct and Statement-II is the
correct explanation for Statement-I

(b) Both Statement-I and Statement-II
are correct and Statement-II is
not the correct explanation for
Statement-1

(c) Statement-I is correct but
Statement-II is incorrect

(d) Statement-I is incorrect but
Statement-II is correct

22. Consider the following statements :

Statement-I :
Marsupials are not naturally found in
India.

Statement-II :

Marsupials can thrive only in montane
grasslands with no predators.

Which one of the following is correct
in respect of the above statements?

(a) Both Statement-l and Statement-I1
are correct and Statement-lI is the
correct explanation for Statement-I

(b) Both Statement-I and Statement-II
are correct and Statement-II is

not the correct explanation for
Statement-]

(c) Statement-I is correct but
Statement-II is incorrect

(d) Statement-I is incorrect but
Statement-1l is correct

(P.T.0.
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23. Invasive Specie
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(@ The Iyt
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l‘»rogramme 3 Enwronmem
(¢) The  Uniteq atio
, i ns
CommlSSIOI‘l for nvironrne ‘;Norld
Deve]opmcnt g

{d) The World Wide Fung for Nature

24. Consider the following fauna .

1. Lion-tailed Macaque
2. Malabar Civet

3. Sambar Deer

How many of the aboye

are generally
nocturnal or most active

after sunset?

(a) Only one
(b) Only two
(¢c) All three

(d) None

25. Which of the following organisms perform

waggle dance for otherq of their kin
to indicate the dircctxoq and the
distance to a source of their food?

(a) Butterflies

(b) Dragonflies \

(c) Honeybees Y

(d) Wasps

11
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26 Cong
s 1
der the fnllrawmp ﬁlﬂfﬂmﬂmu
| Sor
i ne muthmmq hay
: ave
[lrnptrhnﬁ. mwh(mai
2, .‘mr_nr: Mushroomg Ve psycho
aActive Propertieg. F
3 L»
Some Mushroomg have nsecticidal
Properties,
4,

Some mushroom

S have biolumi-
nescent Propertie

How many of

the above
correct?

statements are

(a) Only one
(b) Only two
(c) Only three

(d) Al four

27. Consider the

following statements
regarding the In

dian squirrels -

1. They build nests by making
burrows in the ground.

2. They store their food materials like
nuts and seeds in the ground.

:

They are omnivoroy B

How many of the above statements are
correct?

(a) Only one
(b) Only two
fc) All three

(d) None

[PT.0.
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29. Which one of the following makes

Consider the following statements

1. Some microorganisms can grow
in environments with temperatyre
above the boiling point of water.

2. Some _microorganisms can
in environments with temper
below the frcczing point of w

3. Some microor
in highly acidij
a pH below 3,

Erow
ature
ater,

BAnisms ecan grow
C environment with

How many of the aboye
correct?

statements are
(a) Only one
(b) Only two
¢) All three

(d) None

with a stick to Scrape insects
a hole in a tree or a log of wood?

(a) Fishing cat

from

(b) Orangutan
(c) Otter
(d) Sloth bear

30. Consider the following :

1. Aerosols

2. Foam agents

3. Fire retardants
4

Lubricants

In the making of how many of the above

are hydrofluorocarbons used?
(a) Only one

(b) Only two

(c) Only three

(d) Al four

XD’I‘G—F—-GSTI 62B

a tool

31.

2. Krishna River direc

Consider the following statements

1. Jhelum River

passes
Wular Lake.

through

tly feeds Kollery
Lake

3. Meandering of Gandak River
formed Kanwar Lake

How many of the
above are correct?

(a) Only one
(b) Only two
{c) All three
(d) None

statements given

32. Consider the following pairs -

1. Kamarajar Port :
2. Mundra Port

3. Visakhapatnam -
Port

Port Well known as

First major port in India
registered as a company

: Largest privately owned
port in India

: Largest container port in
India

How many of the above pairs are

correctly matched?

(@) Only one pair

(b) Only two pairs

fe) Al three pairs

(d) None of the pairs

33. Consider the following trees :

1. Jackfruit (Artocarpus heterophyllus)
2. Mahua (Madhuca indica)
3. Teak (Tectona grandis) -

How many of the above are deciduous
trees?

fa) Only one
(b) Only two
(c) All three
(d) None

[ P.T.O.
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36.

37. About three-fourths

der the following statements

consi
34 -
[ndia has more arabl
I China. et
5. The pr(_)portinn of irri :
more in India as E(E:rtlfdaarea e
China. e
3. The average productivi
hectare in Indian agﬁ::\:l?ur i
higher than that in China e
How many of the above state
Coﬂect? ments are
(@) Only one
(b) Only two
(c) All three
(d) None
35. Which oné of the following is the best

example 'of repeated falls in sea level,
iving rise to present-day extensive
marshland?

(a) Bhitarkanika Mangroves
(b) Marakkanam Salt Pans
() Naupada Swamp
(d) Rann of Kutch
[lmenite and rutile, abundantly available

in certain coastal tracts of India, are
rich sources of which one of the

following?
(a) Aluminium
(b) Copper

(c)
(d) Titanium

Iron

of world’s cobalt,
manufacture

2 metal required for the
vehicles,

of batteries for electric motor
is produced by

(a) Argentina
(b)
(c)

Botswana

the Democratic Republic
Congo

Kazakhstan

of the

(d)

XDTG-F-GST/62B
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38.

Which one of the following is a part of

the Congo Basin?

(a)
(b)
(c)
(d)

Cameroon
Nigeria
South Sudan
Uganda

39. Consider the following statements :

1.

the
and

are at
Vindhya

Amarkantak Hills
confluence of
Sahyadri Ranges.

2. Biligirirangan Hills constitute the
easternmost part of Satpura Range.

3. Seshachalam Hills constitute the
southernmost part of Western
Ghats.

How many of the statements given

above are correct?

(a) Only one

4b) Only two

(c) All three

(d) None

40. With reference to India’s projects on
connectivity, consider the following
statements @

1. East-West Corridor under Golden
Quadrilateral Project connects
Dibrugarh and Surat.

9. Trilateral Highway connects Moreh
in Manipur and Chiang Mai in
Thailand via Myanmar.

3. Bangladcsh-China—lndia-Myanmar

connects

Economic Corridor
with

Varanasi in Uttar Pradesh
Kunming in China.

How many of the above statements are
correct?

(a) Only one

(b) Only two

(c) Al three

(d) None

[P.T.O.
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Cor‘lsid” the following statements :
41' Statcme]“lt"l" '
n rest income from the d _
in lnfras_truf:tUrc Investment ';‘rposlts
ATs) distributed to their inveat;‘ Sgs
8 is

(In®
exempted from tax, but the dividend i
18

Sfa(ement-—ll :
JTs are Treco i
inv] gnized as borrowers

ander the ‘Securitization and
struction of Financial Asactfcc:,?ci
f-:nforcemcnt of Security Inte
2002". i
which oneé of the following is co ;
rre
respect of the above statements? ey
(a) Both Statement-I and Statement-II
are correct and Statement-II is the
correct explanation for Statement-I
(b) Both Statement-I and Statement-II
are correct and Statement-II is
not the correct explanation for
Statement—l
(c) Statement-I i correct  but
statement-II is incorrect
(d) Statement-I  is incorrect but
statement-II is correct

onsider the following statements

42. C
Statemcnt—-l :
In the post-pandenﬁc recent past,
many Central Banks worldwide had
carried out interest rate hikes.
rally assume that
nteract the
prices via monetary

policy means.
Which one of the following is correct in

respect of the above statements?
(a) Both Statement-I and Statement-II
dS tement-1I is the

are correct an
tion for Statement-—l
and State:m:nt-ll

(b) Both Statement—-l
Statemen JI - is

are correct and
not the correct explanation for
Statement-I

(c) Statement-I js correct but
Statement-1I is incorrect

(d) Statement-I js incorrect but
Statement-II i8S correct

XDTG-F-GST/62B

. Consider the following sta

44. Which on€

45. Consider th

tements

Stntrmf-nt-l .
Carbon markets are likel
the most widespread tools in t

mate change.

v to be one of
he fight

against chi
Slatcmcmall ’
Carbon markets transfer resources
e sector to the State.

from the privat
the following is €0

respect of the above statements?

(a) Both statement-] and Statemcnt—[l
are correct and Statcmcnt-ll is the
correct explanation for Statcmental

(b) Both Statement-I and Statement—_ﬂ

are correct and Statemcmﬂll is
planation for

Wwhich one of rrect in

not the correct €X
Statcmcm-—l
(c) Statement-I is correct but
Statement—-ll is incorrect
but

(d) Statement-I js incorrect
Statement-1I is correct
of the following activities of
the Reserve Bank of India is considered
to be part of sterilization™?
(a) Conducting ‘Open Market
Operations'
(b) Oversight  of settlement and
©  payment systems
Debt and cash management for the
Central and State Governments
(d) Regulating the functions of Non-
banking Financial Institutions
e following markets :
d Market

(c)

1. Government Bon
2. Call Money Market
3. Treasury Bill Market
4. Stock Market

How many of the above
in capital markets?

(a) Only one

(b) Only two

(c) Only three

(d) Al four

are included

[P.T.O.
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: > of the follow:
yhich one o owij
‘lhf- concept of 'Sma]]g }E’;Sl dts‘crihe
'm

nnled 1
'41(_.][1 f Aarge

(@) I\‘gseltlvmcm of |
of people, “Drootedarge umbey
countnes due to W fro
them a large ¢
they cultivate ¢
the produce

theijy
ultivable' 1y, Biving

_ an i
ollectwcly angd ‘:}}::;ih
Al'e

(b) Many margina] farmerg i

organize themselyeg into g rea
and synchronize and | El'ou‘p
selected agricultyr. armonize

al Operationg
(c) Many marginal farmers ;
s
together make 4 con::']a;n :;:ﬁ
a corporate body ang surrender

their land to the ¢
for a fixed tern: fg:porate body

corporate body makes viich the

a paym
of agreed amount tq the fgrr)r’lerim

(d) A company extends loang () i
knowledge and mateﬁal,i:ugl}llgc?:
a number of smal farmers in
an area so that they produce the
agricultural commodity required
by the company  for jts
manufacturing process and

commercial production
47. Consider the following statements :

1. The Government of India provides
Minimum Support Price for niger
(Guizotia abyssinica) seeds.

2. Niger is cultivated as a Kharif crop.

3. Some tribal people in India use
niger seed oil for cooking.

How many of the above statements are
correct?

fa) Only one
(b) Only two
(c) All three
(d) None

XDTG-F—GS‘rlm
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48,

Consider the investments in the following

Assets

. Brand recognition

2. Inventory

3. Intellectual property
4. Mailing list of clients

How many of the above are considered
intangible investments?

fa) Only one
(b) Only two
(c) Only three
(d) Al four

49. Consider the following :

Demographic performance
Forest and ecology
Governance reforms

N

Stable government

5. Tax and fiscal efforts

For the horizontal tax devolution. the
Fifteenth Finance Commission used

how many of the above as criteria

other than population area and income
distance?

(@) Only two
(b) Only three
(c) Only four
(d) Al five

50. Consider the following infrastructure

sectors :

1. Affordable housing

2. Mass rapid transport

3. Health care

4. Renewable energy

On how many of the above does
UNOPS Sustainable Investments in

Infrastructure and Innovation (S3i)
initiative focus for its investments?

(a) Only one
(b) Only two
(c) Only three
(d) All four

[P.T.O.
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51. 7 ."C€ to Ho
the rD”O“"“g Stateme Guarda o "
1. Home G Nty ; T TNy
" Home (’}lardg © raj i 83. ¢
€ Guap 1sed Onsid
the Centrg] 23 °t ang “der the it ollowing pai
IOV, ; -
2. The role of """lmem_ Ules of H"'.‘Jlmm often
to serve g the ome g Mentioneq in news Reason for beine
1 . p .
the police - AUxilig U:rda is I. North Kivu ang 1 i news
: i r ur -
Internal SCCUrity mamtenancie tc:;- an War;:wagﬂn
5 4 To preve = menia and
’ nt ;
mt‘ernational ‘nﬁltratiOn " 2. Nagm““'K’-'rahaph ] Azerbaijan
the Bor rder/coas e k - Insurgency in
Battali()nder Win Hom tal Areag, 3. Kh Mnumbiqu,.
s haVC ce g ‘Guﬂrda €rson and : Dis :
some Stateg, N raiseq jp, Zaporizhzhia I'm_‘a?“;‘“?d between
srael and Lehqg
How man i
Y of the above giq How
correct? tements are many of the above
ol correctly matched? o
(a) Only one
(b) Only twe 9,00 one
(c) All three (b) Only two
(d) None {c) All three
(d) None

52. With reference to

following pairs : India, consider  tne

54. Consider the following statements -

Statement-] :

Israel has established diplomatic
relations with some Arab States

Statement-II :
The ‘Arab Peace Initiative’ mediated by

'.’?he Act under
which it is covered
1. Unauthorized wearing : The Official Secréts

of police or military Act, 1923
uniforms

Action

2. Knowingly misleading : The Indian Evi-

or otherwise inter- dence Act, 1872 Saudi Arabia was signed by Israel
fering with a police - and Arab League.
officer or military

Which one of the following is correct

officer when engaged \
in respect of the above statements?

in their duties

3. Celebratory  gunfire : The Arms (Amend-
which can endanger ment) Act, 2019
the personal safety of _
others

(a) Both Statement-l and Statement-II
are correct and Statement-Il is the
correct explanation for Statement-1

(b) Both Statement-I and Statement-II
are correct and Statemcpt—ll is
not the correct explanation for

; bove pa.irs are
How many of the a Statement-1

0 tly matched? :
correctly () Statement-l is correct  but
(a) Only one Statement-Il is incorrect
(b} Only two ( d} Statemeﬂt‘l is incorrect but
(c) All three e Statement-1l is correct
(d) None 3 o g

[P.T.0.
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55.

i'r\lln\-.-i,]
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Periog Over
oF lagy
Yearg fou
2. Arjuna Award : For h
. . ; the )
achievema,, Ctime
Spor ¥
3. Dronacharya Awarg 0k “Spers
. 1 Dnou ems
Coacheg rm;:‘::
Uccessfy, 1 raineqd
Portsperso
. ea or
4. Rashtriya Khel % re .
Protsahan Puraskar conmb‘iﬂgnme the
10N made
Sportspcrsons
€ven ter  thejr
retn-ement

How many of the
correctly matched?

(@) Only one
(b) Only two
(c) Only three
(d) Al four

56. Consider the followin.

respect of the 44th
2022

1.

above pairs are

g statements in
Chess Olympiad,

It was the first time that Chess
Olympiad was held in India.

The official mascot was named
‘Thambi’.

The trophy for the winning team
in the open section is the Vera
Menchik Cup.

4. The trophy for the winning team
in the women’s section is the
Hamilton-Russell Cup.

How many of the statements given

above are correct?

(a) Only one

(b) Only two

(c) Only three

(d) All four

2.

XDTG-F—GSTIGQB

57,

58.

-~

MNsider the fr:ilr:wmp

pairs

Aren of conflict

. Country where
mentionec n news

it is locatecd

[_?nnhan Syria
Kachin Ethiopia

Tigray North Yemen

How many of the above pairs are

correctly matched?
(a) Only one
(b) Only two
() All three

(d) None

In the recent years Chad, Guinea, Mali

and Sudan caught the international
attention for which one of the following
Teasons common to all of them?

(@) Discovery of rich deposits of rare
earth elements

(b) Establishment of Chinese military
bases

(c) Southward expansion of Sahara
Desert

(d) Successful coups

[P.T.O.

Scanned with CamScanner



e i
4 aVylnduatﬁ
1. Fertilizer Plantg es ;

. the India
2. Oil refinerieg Alexander Rea. A} n History,

I. Longhy
q rst, Fl'(;hf‘]’t
ewell, James Burgess ang Walter Elli
3. Steel plantg Were associated with =

Green hydrogen ; (@) archacological excavations

a significant
o f o i decarbonziy,, 1) b i
many of the aboye mdUStne ; Ng how (b) establishment of English Press in
s Colonial India
fa) Only one
fc) establishment of Churches in
(b) Only two Princely States
(c) All three (d) construction of railways in

Colonial India
(d) None

62. Consider the following pairs :
60. Consider the following statements about

G-20 :
Site Well known for
1. The G-20 group was originally
established as a platform for the 1. Besnagar : Shaivite cave shrine
Finance Ministers and Central
Bank Governors to discuss the 2. Bhaja : Buddhist cave shrine
international economic and .
financial issues. 3. Sittanavasal : Jain cave shrine

2. Digital public infrastructure is one |
of India’s G-20 prio rities. How many of the above pairs are
correctly matched?

Which of the statements given above
is/are correct? | .- Ol e
() 1908 (b) Only two
(b) 2 only i 4o
() Both 1 and 2 s
i 1 nor 2
(d) Neither e
25

XDTG-F-G ST/62B

|

Scanned with CamScanner



4 der the followm! -
| olh*
3 (e nC]]t"l - hmant'
6 :1{ August is declﬂi‘eq
Jl ﬂldloom ay as N‘
l it ment-II tiong)
| S'E“ was m 1905 t
t was | e
jovemen AUnche
day 4 on ath?d“m
which one of the follows o
i respect of the above Ng ig o8

s

| Both Statementj 5 tatemepyys cct
are correct and ten?tat‘mﬁnt-u
correct explanation for §?§““ 8
are correct and State
not the correct m

Statement-]

|'i

) Statement-] is _
& Statement-II is ingg °‘_’n'_e§:t but

d) Statement-l - ig B l_c_t. X
( Statement-II is m but
consider the fa " 2
e respect of the Nat
according to m ]

2002 :
gtatement-I : i
One of the s
the National F
600 mm %400 mm
Statement-1I & '
The ratio of

Which one of |
in respect of tk

6s. Consiq
er the followin i
fespect of the Cnnntit?jt.i::\ml%:‘; e
Statement. . :
;g:h(lonltitutlon Day is celebrated on
November every year to promote
Constitutional values among citizens,
Statement-1
On  26th November, 1949, the
Constituent Assembly of India set up
& Drafting Committee under the
Chairmanship of Dr. B. R. Ambedkar

to prepare a Draft Constitution of
India.

Which one of the following is correct

in respect of the above statements?

(a) Both Statement-1 and Statement-il
are correct and Statement-il is the
correct explanation for Statement-1

(b) Both Statement-I and .Smwmcm—?l
are correct and Statement-1l is
not the correct explanation for
Statement-1

() Statement-1 is  correct but
Statement-1l is incorrect

(d) Statement-1 is incorrect but
Statement-I1 is correct

“. Consider the following statements :
Statement-1 :
Switzerland is one of the leading
exporters of gold in terms of value.

.nt-11

‘Statement-1 and Statemen
‘ aommwsm and Statement-1l is the
correct exphnauon for Statement-1
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have launcheq r:hpeﬂn (? . A“"Ci'ica
Technology Cbuncﬂ' e
Statement—ll - y md

The USA ang -
through this meyth:reEU claim
technological ngreaa%s © brin
productivity under theirznd phys; 8
which one of the fopow: Ontro],

in respect of the abov:v:m’g is
(a) Both Statement_l S
are correct ang Sta-metatelnent..n
correct explanation e Nt-1 is the

(b) Both Statement—j and_ata_tem |
are correct and Syapo cment-li

not the corre ext;temem—llf;;
lanation  for

(c)
(d)

68. Consider the f

Statement-I ‘-
India account
export of g

69, Consider the following statements :

The ‘Stability and Growth Pact’ of the
European Union is a treaty that
1. limits the levels of the budgetary

deficit of the countries of the
European Union

2. makes the countries of the
European Union to share their
infrastructure facilities

3. enables the countries of the
European Union to share their
technologies

How many of the above statements are
correct?

(a) Only one

(b) Only two

(c) All three

(d) None

70. Conaidef the following statements :

1. Recently, all the countries of the
United Nations have adopted the
first-ever compact for international
migration, the ‘Global Compact

i & for Safe, Orderly and Regular

Migration (GCM)’. _
2. The objectives and commitments
stated in the GCM are'bindms on

'~ the UN member countries.

rne fimitefy R0

o vac ABTO.
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gideT the f'ol,k)w’ns
ApT" Cmu! i, -
L .

y |garia |
7 1. pulga 7a. Consider the following statemnents :

) czech Republic Bt::‘;n::‘:-‘!n : Goplaad sl ibuend -
Hungary L ::e::m_"‘f-
oga The high temperature and moisture
5 of tropical rain ”ncauﬂ”
. ' dead organic matter in the
5 Lithuania dond o el
i Which one of the following is correct in
. e respect of the above sta
(a) Both Statement-1 and gum;mﬂ-:
are correct and Statement-11
L e, e
untries 8 a land’ p. Mention ion
[fﬁcraine? border with (b) Sin nt-1 n
(a) Only two £ I}.;‘_ﬂ .
) Only three bmf;ﬁm lﬁliﬁf,& .
N S G e
(c) Only : T :
(d) ©

72. with rei
which
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Consider the
75

76. With

h‘”“\\lng at

Aleme

|

1. In a ““l.‘%nmp‘lnl .
)

recorded o ¥ aph

]
arliey thay

“'I'I\'g-“

Are
“Im'"-‘i_

[}

In P \\'.'.\'l‘g "
vibrate ‘l.'\""i““' Parje
N the 'Cley

¢ Qirans
Clig
v n

e 1M
1o angd fro
ol Wave |\|'n|~.,-.”,

o) \\'.\\'(‘s‘ e

alion

‘ Creay |

);.lr - ay "]

and down a Il'tg}?l(.k" 1hrate up

\111'(‘\‘“[)11 of Wave prl::”ﬂh"ﬁ L the
dag

ation .
F\Im‘h of the es'lalv.nu‘lmi .
Is/are correct? ¥ Blven aboye

(@) 1 only

(b) 2 only

{c) Both 1 and 2

(d) Neither ) nor 2

-based
power plants in India Wit
following statements -
1.
2. None of them: is  set
water-stressed district.

None of them uses seawater.

up in
3. None of them is privately owned.

How many of the above statements are
correct?

(@) Only one
(b) Only two
(c) All three
(d) None

77. Wolbachia method’ is sometimes talked

about with reference to which one of
the following?

(@) Controlling the viral diseases
spread by mosquitoes |

(b) Converting crop realdu'es into
packing material | |

(¢) Producing biodegradable plasncso

(d) Producing biochar from therm

- ; 5
chemical conversion of biomas

XDTG-F-GST/62B

33

Onsij

ler the fi

) |r|'.ll-

I1'1;—: Ar I|‘,'|.l1r't\
qu--.ulmiff
y linely Eron 5 k
. ' E .||'Id}.' i
on I|’c”|’TI|-—I|I|'!‘l I'"i,‘!!"ll‘l] | }I.*‘“ = ‘
3 vely
[I]l"l'"" i L v a "
ASing I ¥
o B th —lll-r.-lmlw of e A
)y .If!l’llTlP l”’l’]" -

(.u;mmr-;{ Carbon ¢

W various industri

i:lf})ur!r- r"‘”?ﬂf‘li
it inte

€8 and
;|h;mrlunrrl
mines in the form
waterg

Pumping
m:htﬁrrann;m
of ¢ arbon ated

How many of the

often considered
carbon ¢

(a)
(b) Only two
¢c) All three
(d) None

79. ‘Aerial metagenomics’ best refers to
which one of the following situations?

(@) Collecting DNA samples from air
in a habitat at one go

above activities are

and discussed

for
apture and SCquestration?

Only one

(b) Understanding the genetic makeup
of avian species of a habitat

fe) Using air-borne devices to collect
blood samples from

moving
animals

(d) Sending drones to inaccesﬂble
areas to collect plant and animal

samples from land surfaces and
water bodies

80. ‘Microsatellite DNA’ is used_ in the case
of which one of the following?

ir lutionary

a) Studying the evo nary

; relationships =~ among  various
species of fauna

i i ‘stem cells’ to
?ram:;}lartl;nginto diverse functional
tissues -
{c) Promoting clonal propagation
horticultural plants
Assessing the efficacy of dtrrl.;slz 113131!
conducting series of drug
a population

(b)

(d)

(PT.0.
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Consider the

- fo o
relation to h ””“”‘I

. : y st
; Nani -"-ln'akq}mmn"’"s
1. Itisa gafe -

i Ojang
of the Simlpn ;}Ll;:]:llmnd : Jang .
Its ”bjt‘.cti\'p i,

and neonaty)
Pregnant o,

ey "

Jenay. h’"”'l'm
is to “PAltmeng

mm_t;t"idmfo Materng)
: nen, . amo;,g Poor
It aims
delivery

women.

Promote |
- s
among Po r”s“lunnnal

N?g:mm
4. Its objective

public includeg

facilitieg "o N8

Sick

How many of th
: e st )
above are Correct? atements given

(a) Only one
(b) Only two
(c/) Only three
(d) Al four

82. Consider the following statements
the context of interventions bei:lln
undertaken under i ;
Bharat Strategy :

1. It provides prophylactic calcium
supplementation for pre-school
children, adolescents and pregnant
women.

2. It runs a campaign for delayed
cord clamping at the time of child-
birth.

3. It provides for periodic deworming
to children and adolescents.

4. It addresses non-nutritional causes
of anaemia in endemic pockets
with special focus on malaria,
hemoglobinopathies and fluorosis.

How many of the statements given
above are correct?

(a) Only one

(b) Only two

(c) Only three

(d) Al four

F-GST/62B

83,

]

2

Which of the statemer
18/ are Correct?

(a)

'mmulpr 1
e fr1|]r,“v
. ng \Talbmp
’ nts

( Flfhr,“

n.””“h”ﬂhrﬂa are used in the

i ure of “Omponents yged

1 automobiles and air rafl. =
rafts

(I.'rllh("-' rlh

Fes once lae
recycled. *d cannot be

s given above

] only

(b) 2 only

(c)

Both 1 and 2

fd.’}_ Neither 1 nor 2

84. Consider the following actions :

1.

Detection of car crash/collision
which results in the deployment of
airbags almost instantaneously .

Detection of accidental free fall of
a laptop towards the ground which
results in the immediate turning off
of the hard drive

Detection of the tilt of the smart-
phone which results in the rotation
of display between portrait and
landscape mode

In how many of the above actions is the
function of accelerometer required?

(a) Only one
(b) Only two
{c) All three
(d) None
[P.T.O.
B |
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émmonia pre sent
Nitrate.

Biofilters increase

‘ Phosphory
nutrient for fish in Water e

(@) Only one

(b)  Only two °

(c) Al three
(d) None

86. Consider the following pairs :
Objects in

Description
space
.' 1. Cepheids : Giant clouds of dust and
" gas in space
2. Nebulae : Stars which brighten and
X dim periodically
3. Pulsars : Neutron stars that are

formed when massive stars
“run out of fuel and collapse

(@) Australis

(b) Canada

(c) lsrael

(d) Japan

Consider the following statements -

&

2. AgniV is a

Ballistic missiles are jet-propelled
at subsonic speeds throughout
their flights, while cruise missiles
are rocket-powered only in the
initial phase of flight.

medium-range
supersonic cruise missile, while
BrahMos is a  solid-fuelled
intercontinental ballistic missile.

Which of the statements given above
is/are correct?

(a) 1 only

(b) 2 only
(c) Both 1 and 2

(d Neither 1 nor 2

|PT.0.
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9. Consider

X e
regarding mq

follg
rey i

B
Y pollugig,, ':lﬂtementa

1. Gold Minj
N8 activipy, |
2 Vity
merey Pollutigy, in!t}?e ;o;: I;c
r
2. Coal-hy |
erm
Cause Mmercury poﬁz.m%?cr o
3. There is
EXposure to mlglﬁlm i

Consider g

reference ¢, Ind Statements wig,
Accordin

: the ‘M
edlum merprigei:m' sm and
(MSME) t, 2006 : pml nt
Enterprigey’ are ’thone with
’""elt‘menta plant
machinery between # 15 crore and

2 crore,

+ Al bank losmtomelﬁcm Small
and Medium Enterprises ’@Hﬁfar
under the ity sector,

Which of the statements given above

is/are correct?

fa) 1 only

(b) 2 only

fc) Both 1 and 2

(d) Neither 1 nor 2

92. With reference to Central Bank
digital currencies,eonaiderthchllmhg
statements :

1. Itispossibletomhkem
in a digital currency without using
US dollar or SWIFT system.

2. A digital currency can be
distributed mth ':d‘ mﬁne-
programmed into it such as a
frame for spending it.

93.

Which of the statements given above
is/are correct?

(@) 1 only

(b) 2 only

() Both 1 and 2

i T
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g4. Consider the g

l. The - 1 Ing siatempms ;
pr()gr . -‘{;:] i }T[)up ("\‘,[ :
Ey the gpac OTiginally ;. OHG)

it
y vaidin e Bﬂnk Intmlmi

y 0 ;
ﬁ“anCially - rfil'\llcrﬂt'tre(]it tnln::]m
’ In an S ed, :
HG
take regpo, ol memberg of
an indivi . Sibility fo. 1o Broup
g o Widuag) ber rakoan that
Schedul‘igjonal Rura) Banks -
Support Sy °rcial  Baneg
How man

(d) None

95. Consider the following statements :
Statement-| ;

India’s public sector health care system
lp:g_ely focuses on curative care with
limited preventive, promotive and
rehabilitative care,

Statement-II :

Under India’s decentralized approach
to health care delivery, the States are
primarily responsible for organizing
health services.

Which one of the following is correct in
respect of the above statements?

Both Statement-I and Statemt_:nt—ll
g are correct and Statement-II is the
correct explanation for Statement-1

- —I1
(b tatement-I and Statement |
o ;.:emcirrect and Statement-Il is

= not the correct explanation for
Statement-I
() Statement-l is correct DUl

Statement-II is incorrect

: t
(d) Statement-l is incorrect  bu
" Statement-1l is correct

41
XDTG-F-GST/62B

)
N8idley the followi, K
y K stateme
5?;”,‘”“‘”! I N
Ceordip
E to ¢
World Water Iho _— s
2029 evelopment e ort
4 India extrs e
A Quarter of th '"1“‘ .
! e world ; Wi
Withdrag.a e 8 groundwater
Statement I :
Indis :
. ‘lll| needs o Extract more than
: -I;””lm of the world's groundwater
..m 1 Year to satisfy the drinking water
and sanitation needs of almost 189
of }.vr)rlrl'ﬂ population living in its
territory, |

Which one of the following is correet in

respect of the above statements?

(@) Both Statement-1 and Statement-
are correct and Statement-11 is the
correct explanation for Statement-|

(b) Both Statement-I and Statement-I1
are correct and Statement-Il is
not the correct explanation for
Statement-]

(¢) Statement-1 is  correct
Statement-II is incorrect

(d) Statement-1 is incorrect but
Statement-II is correct

but

97. Consider the following statements -

1. According to the Constitution of
India, the Central Government has
a duty to protect States from
internal disturbances.

2. The Constitution of India exempts
the States from providing legal
counsel to a person being held for
preventive detention.

3. According to the Prevention of
Terrorism Act, 2002, confcssuon_of
the accused before the police
cannot be used as evidence.

How many of the above statements are
correct?

(a) Only one

(b) Only two
(c) Al three
(d) None
[P.T.0.
.=_j/ - )
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08. which one of the following countries has
been suffering from decades of civil strife
and food shortages and was in news
in the recent past for its very severe

100. Consider the following statements in
respect of election to the President of
India :

o el 1. Themembmmmhmdbdmr
House of the Parliament or the
§ d are
Angola Legislative Assemblies States
+ iy also eligible to be included in the
(b) Costa Rica Electoral College.
: of elective
2. Higher the number
{c) Ecuador el y. ﬂt::
Al valueofvotzofenchmﬂ‘
. e . State.
' each MLA
i . The value of vote of
99, Consider the following statements : 5 e e e
1. Ip India, the Biodiversity that of Kerala.

yn of the o’bjecﬁves
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